 EC365A




SRS

0154 5] o p-

27
ri
/7
Y

~200~pA
~210-0A
_Z‘;u—|A
2T

7KV 2 como
22 TAUD N — ey
\;71—,'/0)\"—00‘77\/}0
7XvT"y v comy
A2avvy comp

Hi3

/2 4
v

# 4!

]

%2

%

b

!v}



-

No.

No.

No.

No.

No.

No.

(2]

(EC365A)

\\

£

R PR TR LR T aae LA LA sesan

R L L R L L]




VAN N Eg{gﬁ (EC365A)

1

No.




RES WS EF e R Al e -
1—1 | 0154-110-200-1A |~y KC OMP 1
1—2 | 0154-110-230-0 | h»5 COMP 2
1—3 | V201-260-801-6 |44 Kk 8 |M8Xx16
1—4 | V401-160-008-0 |S W 14 |8
1—5 | V300-260-008-0 |7 v b 14 | M8
1—6 | 0154-120-011-0 |E4 44 (L) 2 ChaE oo
1—7 0154-120-012-0 |[EZ %4 (S) 2
1—8 | V201-260-808-5 |ax &+ b 4 | M8X85
1—9 | V201-260-806-0 |2ak% &L b 2 | M8X60
1-10 | 8935-056-025-0 |Y>7(20) 8




a2 7R84% (Ec36sA)

2

No.




RHES TR S il A # LG N %
2—1 | 0154-210-011-0 |+ .v% 1
2—2 | 0154-210-012-0 |(V/—Y (BS81) 1
2—-3 | 0128-210-017-0 | .v27—9 (7) 1 | gréb-=2-200- O
2—4 | V411-260-016-0 | 3 ¥¥+# % 1|16
2—5 | V401-160-016-0 |S W 1|16
2—6 | V332-260-016-0 |+ h(FVA) 1 | 3vaM16X1 .5
2—-7 | 0123-301-013-0 |*—(34) 2 LYEv3E
2—8 | 0154=210-013-0 4| v 2o XA (7 h) 1
2—9 | V600-150-620-5 |RBB (4retop) | 2
2—10)| 0152~301-017-0 |1 Dl 97 xs5 74 1
2—-11 | V111-165-001-0 | FIxF+~az 2 [ M5X10
2—-12 | 0152-301-003-0 |7 VY& hxFw (L) 1
2—13 | V201-261-002-0 | ax &KL b 1 | M10X20
2—14 | V201-261-002-5 |3 H &KL E 3 | M10X25
2—15 | V401-160-010-0 |S W 4|10
2—16 | V300-260~010-0 | 4 k 3 | M10
2—17Q| 0154-210-014-1A | v FVF KO A &L 1
2—18 | V183-448-000-8 | ashs7F+0RI9% hAGY 2 |M8X8 | 9T

0 2-19.| 0153-201-004-0 | Us & (ia) 1
2—-20 | 0154-210-015-0 |vaUswsr o4 1
2—21 | 0152-301-021-0 | 7—/S"> ( 6X20) 2 7 A8 A7
2-2 | 0154-280-011-0 |7 54 x4 (TR i) 1 ottt 33 J-6 1-6T
2—23 | 0125~201-016-1 | 754 kA ALX I H b 2 | M12X35| 7T
2—24 | 0153-201-008-0 | %4 %>% 2 | (Bbiir Hid— 2o 008
225 01_53—_:393_0_09-35_3 BAFNURD R 4 124
2-26 | 0D152-101-012-0 SW(10)# 4 4
2—-20 | 0152-301-022-0 |78y h(M10)&20| 4 *'w_,ﬂ;_.f*- - ERNP ORI D
2—28 | D116-220-012-0 | &#ZoxLh(M8X45) 6 RS TIT
2—29 | 0152-301-024-0 | a#%+y h(M8)&s 0 6
2-30 | 0165-201-011-0 |&%wJy FM12 31 2




F > NORB8{% (Ec3esA)

3

No .

L\



T 650

&S ST il A % BEC || | Z
3—1 | 0154-310-200-0 |[VF—19 44 COMP 1

3—2 | 3731-551-008-0 |F%v—%4 4% % 1

3—3 | V401-160-008-0 |S W 9 (8

3—4 | V201-360-801-6 |23 4+ h 1 |M8X16 | 7T
3—5 | V817-000-040-0 |V~ 1| span | 0375 -J20 ~ 8y~
3—6 | 0154-310-220-0 |52t 5L7—-4COMP | 1

3—7 | 3731-551-019-0 |7 v s> —1 1

3—8 | V704-140-012-0 |CH % Fx9 (&) 1

3—9 | 3746-621-019-0 |Hv s F—Y Yy 1

3—10 | V201-360-802-0 | 24 %4 k 6 |M8x20 |7 T
3—11 | 0154-320-011-0 | *¥—s#y » = 1

3—12 | V600-130-620-3 |RB B 1 | 620322
3—13 | V201-261-002-0 |3 %% &Lk 4 |M10x20
3—14 | V401-160-010-0 |S W 4 |10

3—15 | 0113-141-004-0 | KL > 734 il

3—16 | 0154-320-012-0A [ ¥¥Y—Ky 27X (==x) 1

3—-17 %ﬁﬂ’iﬁ%@n Ty va (20X25%25) f <

3—18 | V742-120-300-5 |#4 L —0 0

319 | 0154-320-014-0 |#H 5wy 1

3—20 | 0154-320-015-0 | %— (06X06xX44) 1

3—-21 | 0153-301-005-0 |~~~ &F¥—(=wx) 1

3—22 | 0153-301-006-0 |% 5, F 1

3—-23 | 0154-320-013-0 |[~~LFE¥r—(vrno) 1

3—24 | 0115-301-012-0 |Hw o 2Hh5— 1

3—2 | V500-104-004-0 |7y 1 | 4x40

3—2 | 0154-320-016-0 | F¥—Ky s 274 1

3—27 | 3536-111-014-0 | F .2t (19) 1

3—28 | V200-260-601-2 | &k 5 [M6x12
3—29 | V401-160-006-0 | S W 5|6

3—30 | 0152-401-016-0 |=z7 Yo 1

3—31 | V680-200-001-0 | XF—rA—s 1




= C 345

RHES T =i i £ EE | B B
3—32 | 0153-301-011-0 [/ KR byt 1
3—33 | 0153-301-009-0 |2 oy F LR 1
3—34 | 3761-242-017-0 |LN—=F i
3—-35 | V201-260-801-6 | a# 4wk 1 | M8X16
3—3 | 0115-301-210-0 |47 yFLN—=COMP i
3—-37 | 0152-401-019-0 |5 —,¢— > (D5 ) |
3—38 | V401-100-005-0 |S W 1|5
3—39 | V300-200-005-0 |F v b 1 [Ms
3—40 | 0152-401-020-0 |25 o F w44 % il
3—41 | 0154-330-200-0 |H> oo x%,COMP i
3—42 | V750-700-100-4 |H 4 AH o7 2 | D6,5
3—43 | V742-120-350-6 |A A Li— 1 | vC20356
3—44 | V112-168-002-0 |FIXH4IFa4%v 1 | M8x20
3—45 | 0152-401-500-1A |~X~VF¥F+Y—44 COMP il
3—46 | 0154-330-210-0 |#F+—4>—2COMP |
3—47 | V201-260-802-0 |34 &AL b 2 | M8X20
3—48 | 0154-330-011-0 |S4m—AF¥¥v—vy 1
3 | 0115-302-012-0 | B— i 4= (’éﬁ% P K
3=50 | 0113-141-016-0 |[*—(2) M 2 b¥bNZ0
3—51 | 0330-203-008-0 |X7Y L& 7FH#H% 1
3—52 | 0153-302-006-0 | v Io—u¥Fyrosy 1
3—53 | 3058-501-008-0 |~7—tr 1
3—54 | 0128-340-200-0A | FxU¥v—(45)COMP | 1
3—55 | 0128-340-210-0A | F=U8%—(37)COMP ,| 1
3—56 | 0128-340-220-0 | Fz v¥v—(22)COMP b| 1 |2¢
3—57 | 0128-340-015-0 |F - oxv—(14) )| 1 |/¢
3—58 | 0128-340-011-0 |~7—£>(16A) 2
3—59 | 1305-241-001-0A | A4 LI I~ATF— L 1
3—60 | 0152-501-003-0A | Us 4 ¥ k(¥4 ) 1
3—61 | 0152-501-004-0, | v a4 berss UM o
3—62 | V500-162-002+2 |7y ey 4| 2x12

49, 05~ 902 00-(h Cordh- (BF ) st

\

_7_

A

|
\



EC 3684

RES B &5 i B # fE% | % ] %
3—63 | 0153-401-220-0 |F.® #2205 COMP 1 Tff/ﬂz“f
3—64 | 0113-141-204-0 |vadrhey o | 2
365 | 0115-601-015-0 |F.2<—% 1
366 | 0154-910-013-0 |&V& v XL HoL 50 1

A% Z 7P
gr& Kl poo-/ 4y HAT-27 s77 ) &
iz 7 267°

wth. a0 17!

'y
7 el 27" (p Viﬁ

VU‘;.(«(M/S@( 7
(,z)-"”) s /J‘
v b 4T
Wy (%) 5 ¢

&)
%)




No. 4 H#A')3IB§F (Ec3esA)




RHUES Homs & 5 =i Al % g (B |
4—1 | 0154-410-200-0 |3 %#o—LCOMP 1
4—2 | 0154-410-210-0 |2 % a— X ZACOMP 2
4—3 | V750-700-100-4 |AA By T 2 | D6,5
4—4 | V201-261-003-0 |a# &KL 2 | M10X30
4—5 | 0154-410-011-0 |V &N KL b 2
4—6 | V401-160-010-0 |S W 6 |10
4—7 | V300-200-010-0 |+ k 4 | M10
4—8 | 0154-410-220-0 |»xTo—LCOMP 1
4—9 | 0154-410-230-0 | x5 /xCOMP 1
4—10 | 0154-410-014-0 |#F— (09X14X130) 1 (
4—11 | 0154-410-012-0 | ALk (155) 1
4—12 | V401-160-008-0 |S W 2|8
4—13 | V340-120-008-0 |72 o, k 2 | M8
4—14 | 0154-410-240-0 | Y=P—LAZLLHCOMP| 1
4—15 | 0154-410-250-0 | “9xo—Ax%Z/LRHCOMP| 1
4—16 | 0154-410-013-0 |=ZFY> % (HEO090) 2
4—17 | V201-461-003-0 | IH 4 &L k 2 [M10x30 | 9T
4—18 | 0154-420-200-1 |vV# s> (LH) COMP | 1
4—19 | 0154-420-210-1 |V %,x>(RH) COMP i
4-20 | 0154-420-011-0 [V &Y 3o 2
4—21 | V300-260-006-0 |7 h 8 | M6
a¢22 [)0154-430-011-0 | 35 4% 1
4—23 | 0116-430-012-8/ | a54,x Ly vy EL b 2
4—24 | 0154-430-012-0 | X%~ 1
4—25 | 0116-430-015-0 |X 2 o3~ (M6X12) 2
4—26 | 0152-201-013-0 SW(e6)zsm 2
4—27 | 0165-201-013-0 | &% & e¥ri(6) 2
4—28 | 0116-430-014-0 | & = 1
4—-29 | 0116-430-016-0 | & a/,Ny A 1
4-30 | V112-166-001-0 | ¥5x4 I 3% 2 | M6X16
4—31 | V411-260-006-0 | I #¥H#H % 2|6
E ¢ N O3 ol —004 s 3 F4H =
o (/356 O (Y L-to(podoB 277/ 21X Xy T 227 (%)




EC5651

RHES| & W & 7 R i 18 | B f
4—32 | V401-160-006-0 [S W 2|6
4—33 | V300-260-006-0 |F v b 2 | M6




SERVICE MEMO




K

No. &5 HA V% (EC365A)




F 3654

Cese(7A iﬁ\

, 'T_) 7 | )—%2/7

R ES R S S il At % k> R S 3

5—1 | 0154-510-200-0A |~ kh/N—F7 hCOMP 1

5—2 | V200-260-601-2 | b 39 |M6x12

5—3 | V401-160-006-0 | S W 50 | 6

5—4 | V411-260-006-0 | 3 #*4+# 3 32 |6

5—5 | 0154-510-210-0 [~V h#N—<ZCOMP il

5—6 | 0128-515-210-0 | 7—Y H#/x—25COMP i

5—7 | 3789-151-006-0 |#v 9> 7 21

5—8 | 0115-501-230-1 |— 1 %,¢—COMP 1 I VIS
5—9 | V271-160-601-5 | ¥ 3 &L b 3 | 202aM6X15 /QK_'TU

5 -(10) | 0154-530-200-0A | & 4 &4 A N—COMP | 1| _cvsw olu-$53]
5—11¢| 0154-530-011-0 |&Z oaLh (M6X16) 4 o

5—120| 0154-530-012-1A | #2047 I4M6X3 0 1

5—13 0165—3%—013—0 ZFraFEHRE(6) 7

5—14 | 0152-201-013-0 SW(6)xsm 7

5—15 | 0152-201-014-0 |or#HvFy b (M6)Fva| 7

5—16 ¢[ 0152-201-012-0 | &% o473 45M6X20 2 29v P
5% | 0154-530-210-1C | 9= H#,x—COMP 1 [Be3s X a1
5—18 | 0113-121-001-0 | HN— X Vo %4 % 1

519 | V371~ 160-006-0 | 72 75 b 2 | 2va2M6

5 {29 §i58-505-200-0- 4779y COMP UL 1 )40 | orti-g30-230-0
5¢2) | 0153-505-210-0A |+ 5V Y COMP 1 X5/ of
5—22 | V271-160-603-5 | F = 7 &N bk 1 | 2v2M6X35

5% | 0154-530-220-0 |7 *74YY4*COMP | 1 |€c3ealii- AF3UA
5—24 | V201-260-806-5 | 34 &+ k 1 [ M8x65 /4

5—25 | V411-260-008-0 | 2 #&F+H 2 4|8

5—26 | V401-160-008-0 S W 3|8

5—27 | V371-160-008-0 |FsvF+ 4 k 1| 2¢aM8

5—28 | 0154-540-200-1A | o—b x4 ,8—COMP 1

5—29 | 0154-540-210-0 | o—> % H/5—COMP 1

5—30 | V201-260-801-6 | 3% 4 &L b 2 | M8x16

5—31 | 0116-530-230-0 | 23574 %Y COMP 1

() 77472
%?Dv C/

4

~
v

By



K C5b5A

REES m e 'S i A # S G - 1
5—32 | V500-162-001-5 |7V 1 [2x15
5—33 | 0154-540-220-1A | V2 /N>#/,5—LHCOMP 1
5—34 | V111-166-001-2 |F IR+ ~3 4 5 |M6X12
5—35 | 0154-540-230-0 |V Z,xu4/~—RHCOMP 1
5—36 | 0115-403-012-0 |V & /N2 #H/S—SP 1
5—37 | 4162-101-203-0 |/ 7&K b(M6) 1 [M6X10
5—38 | V300-260-006-0 |7 v b 10 | M6
5—39 | 0154-550-200-0 |47 Mys—(4 ) COMP 1
5—40 | 0154-550-011-0 |> ¥ 7 bH,N— (VL) 1
5—41 | 0154-550-210-0 |+ 7 h#/5—74%COMP 1
5—42 | 0115-403-012-0 |V 2N H/N—SP 1
5—43 | 0154-610-200-0 |75 %4 COMP(3)o94(] 1 /o500
5—44 | 0154-610-011-0 |4 Y& F4H—F 1
5—45 | 0154-910-015-0 |H4vFv—2 1
5—46 | 0115-601-017-0 |*% > ~v—7 1
5—47 | 0116-910~015-0 |#4 FA4F T b3 1
5—48 | 0116-910-012-0 |Hh4 Frvve—2 1
5—49 | 0154-910-014-1A | #4724 ¥ v—2 1
5—50 | 0128-910-018-0 |JI—v s w—2 1
5—51 | 0116-910-016-0 |2 5o Fv— 2 1
5—52 [ 0115-601-015-0 |F 2v2v—2 2
5—53 | 0154-910-016-0 |23 v—2 1
5—54 | 0154-910-011-0 |F aw—2 1
5—55 | 3632-901-009-0 |7 ¥ F 294 v—2 1




SERVICE MEMO




No. 6 H#7 3 B8R (Ec3esA)




RHEE = i R % e - e
6—1 | 0116-131-200-0 | E—&~—2LF2COMP 1 @’{;9 2‘*9
6—2 | 0116-131-210-1A | £—4~—ZCOMP 2 7
6—3 | V201-360-802-0 | a4 4+ h 6 [M8x20 | 7T
6—4 | 8935-056-025-0 |U>v(20) 12
6—5 | V401-160-008-0 |S W 6|8
6—6 | V300-260-008=0 |+ h 6 | M8
6—7 | 8935-001-027-0 | 7544 ke hk k]| 2
6—8 | V302-260-010-0 |+ k 2 | 3vaM10

ot pgo 20 /| g7 7NIISET

YN A Bt (o |~

0373 0= /20| 972 A= o

0/ (> f/o/_ g0 | N 0 (r0) 7‘7‘7 2
d/J'ol-ﬁo/-o;)—o 770‘/"7”(/'1/”7'75’9‘

‘% ©

20/ ¢ 7l 2008 LIz @IET A
8 /8 o~ 940 -o/R B FvAS &1 Vs




SERVICE MEMO




12:@5° 7 PFe7R Todand NO. 498 . P.1-1

C365A ERIRELRZE vy

- TOBEARE, LR BB TEI > TFaw,
=, BEOELGHOVLOEFDIE SUEMMAE N E (, B
LOEWZIEZEMMEXE(TION, TOBGEAETD
YTt
-JORME, ERECEVEArOHARTECES 2T, LA
MekHBATT,

E4z7)

I ERA I

HF7UICOMP

< BRRIC. SamiEE
W U &R < R

P10, 3mndE A

B+ 457U/COMP (@& - K @ 0154-230-200-0) &
EXHBTT. /4

) ors /50 200/

- 5



1 b

Ty rr-nrasasfy Lu

« ¥ L0
I:l_-':‘l:lﬂ'u_ e

LT

CES TSN I U A T LB

= 7

rPuEm=L g

#UL i Ss 4 NEAR -

b fMPELE B2 B
i r

A

R AL

e
] k- _igk
A 1P
- LRy - T ¥ I
1 iy

g

. i = B

ki F o= M- % R |

T o . - ey I | . '

v .""hm’ i o B ll‘!:. S &=

il

.







o

1y Wy A, IF I

H-FE .

y ,,... g -'-;



